H & 0l & AHS B Ml A

FA FUS
g NSAMeI2E Sd
Cel: XIFAtel SXIXIA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fe=X 31,937,699 26,311,234 5,626,465
= 15,650,517
[ 641,135
Il 37,000
== 2,937,4%
= 12,671,553
KNEAR 28 S8 2,245,392 2,189,124 56,268
= 1,325,662
= 98, 191
= 821,539
KIS Atel SXIXIE 587,334 545,456 41,878
= 17,378
Ea 569,956
ASIER R ztel(Ql2d]) (MEAL) 302,400 270,000 32,400
301 EtE NS 302,400 270,000 32,400
0 AMSRREES 302,400 270,000 32,400
CAZERRY E4=(22H])
600,000 x42H 122 302,400
ABI=Re@ X2l (HIAH]) (M EAY) 140,410 114,032 26,378
301 2eEN= 140,410 114,032 26,378
10 AR=SR224= 140,410 114,032 26,378
oMeER23 WS
6,5003 »42H x230! 62,790
oMNSRERR LI=Hl S
300,000& %30 9,000
CAZERRY HHAMNEE It (2=t
) 23,8002 ~42&H 1,000
oAMBERRY SAHI(ZHIFIH
7,000 x422H+2302 67,620
A=l=XEee 28X 40,000 40,000 0
= 8,000
o 32,000
307 @20l & 40,000 40,000 0
s 8,000
s 32,000
03 LM EHE2SHIEX 40,000 40,000 0
oZdTA=AE 5 23]
10,000,000 *43] 40,000
& 8,000
= 32,000
=0I=X XA 28,860 30,860 22,000
201 er2 3| 20,360 20,360 0
01 AtR2telHl 20,360 20,360 0
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2 =0

Xl
g NSMEE S
3

Rl NS AR SXXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o=xJ|8 eexd el
8,000 x5 »134 5,360
SMNEISTNZYTRY Yoo
15,000,000& *12] 15,000
202 04| 6,000 6,000
01 =LHOLI 6,000 6,000
o=XJE Y2EX
20,0002 68 50 6,000
203 HR=H] 2,500 4,500 22,000
03 A=A FAIH| 2,500 4,500 A2,000
oFUSKA A= 625,000& *4:=2 J| 2,500
NS AR S XA 31,560 50,060 18,500
=S 3,518
s 28,042
201 et 3| 1,500 0 1,500
01 AtR2tc|bI 1,500 0 1,500
SXISASI S A2 A HIE
30,0002 +50& 1,500
301 EtE NS 7,560 7,560 0
= 2,268
o 5,292
14 DBt 2 a=S 7,560 7,560 0
o AR S XA 2=1=H| XI&
56,0002 x135% 7,560
=S 2,268
s 5,292
307 212+01& 22,500 17,500 5,000
< 1,250
s 21,250
04 QIZHHAMAIRH 2 X 10,000 5,000 5,000
oM2SXAIE SOSAL X
10,000,000& * 13l 10,000
06 28= 12,500 12,500 0
SABISRBAA SHHAHESE KR (EX)
10,0003 250+ 12] 2,500
== 1,250
o 1,250
S MBI SXISAAF SHIAGHEE X2 (KHAI)
10,0002/ %1,000Z 12 10,000
NSEABIEEEOM dE 2@ 2H(EX) 29,304 29,304 0
= 5,860
o 23,444
307 @20l & 29,304 29,304 0
s 5,860
s 23,444

S
&
|




2 =0

Xl
g NSMEE S
3

&elr XFAe SXXIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 2N EHE2SHIEX 29,304 29,304 0
oXSGARISHEHOAN XA 2]
2,442, 0008« 1H« 123 29,304
= 5,860
Ea 23,444
KNS 2EE2AM 28 XS 14,800 11,200 3,600
201 et 3| 11,200 11,200 0
01 AtR2tc|Hl 11,200 11,200 0
oA 2SN AR A =&
70,0003 202 *82 11,200
307 glztol & 3,600 0 3,600
03 2N EE2SHIEX 3,600 0 3,600
oNGARI 2SN 28 &
300,000 x 12 3,600
A& 1,658,058 1,643,668 14,390
= 1,325,662
= 80,813
= 251,583
22 1,117,522 1,156,984 A\39,462
= 1,005,844
= 33,446
s 78,232
101 @124H| 120,000 130,000 10,000
= 108,000
== 3,600
[Ea 8,400
M ORNZZ2NSE S 120,000 130,000 10,000
o5H NEZ2AY 22|
769,230 x 138« 12 120,000
= 108,000
== 3,600
o 8,400
206 MH=HI 2,600 2,600 0
= 2,340
== 78
o 182
01 MHZHI 2,600 2,600 0
o588 22 AE =4l
16,6663 132~ 123 2,600
= 2,340
s 78
s 182
307 212+01& 994,922 1,024,384 N29,462
= 895,504
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SN OISR D
g NGAMeI2E Sd
Sl A (St ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 29,768
s 69,650
05 2ItRIE = 994,922 1,024,384 N29,462
oNSIEHH 22 A
1,658,203 x50« 123 994,922
= 895,504
< 29,768
= 69,650
XSATEHE 29(2X) 251,066 239,545 11,521
= 175,746
< 25,107
T 50,213
307 glztol & 251,066 239,545 11,521
= 175,746
== 25,107
o 50,213
10 AlRISTIAEEE 22X 251,066 239,545 11,521
oXSTHEHH 23|
20,922,166 * 1 212 251,066
= 175,746
s 25,107
s 50,213
NS XEHE 29 56,200 56,200
307 elztol & 56,200 56,200
10 Al2ISTIAIEEE 22X 56,200 56,200
oXSXEHH Atz AR
1,350,000& * 14 A x 12 16,200
oXSAgdy 28 A&
3,333,330 * 1 A x 12 40,000
KSTtHHE SAA E82(EX) 6,480 7,560 1,080
< 1,944
2 4,5%
307 212+0| & 6,480 7,560 A1,080
= 1,94
2 4,5%
10 MBI ST Al Z 2P 2 6,480 7,560 1,080
SXAREHE SAK SB4Y
90,0002 6~ 12 6,480
= 1,944
Ea 4,536
AHeAtedl2tel 31,700 30,992 708
== 9,510
[Ea 22,190
307 212+01& 31,700 30,992 708
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2A:

=X

A RGARRIEE S&
2l R (EEEE))
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 9,510
= 22,190
10 Al SXAIEHE2ZHIEX 31,700 30,992 708
o XtEArd el 2,641,6662 18+ 123 31,700
& 9,510
i 22,190
DESY U= S E22 NIMS(SEFAY) 180,090 139,483 40,607
= 144,072
& 10,806
i 25,212
307 QI2tol M 180,090 139,483 40,607
= 144,072
= 10,806
= 25,212
" AMSI=SXAIEEE 180,090 139,483 40,607
o3 WISEE I 103,833 x1H* 128 1,246
= 997
& 75
i 174
cUldII==E 102,933 x5H » 123 6,176
= 4,941
= 371
= 864
ocHAMEA 337,500 x2H 123 8,100
= 6,480
= 486
= 1,134
o3| UMEAHZ | 225,483 x71H+ 123 18,941
= 15,153
= 1,136
= 2,652
o3| UMFAHZHI 80,3723 198+ 12& 18,325
= 14,660
= 1,100
= 2,565
oHHUNL M ZHE(XHALI0I5H)
216,642 x7H+ 12 18,198
= 14,558
= 1,092
= 2,548
SESISIV =PSBy [ESTONES S ESn |
89, 1372 * 102« 122 109,104
= 87,283
= 6,546
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A FRISXID
& XSFARE2E S&
2l R (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 2 15,275
KHEALS K& 15,000 15,000
307 2I2+0l™ 15,000 15,000
11 AR SXAEE X 15,000 15,000
o M203| Mt S XHEHEl
15,000,000 & * 14! 15,000
=tEs2el & X 1,527,300 920,960 606,340
T 157,800
= 1,369,500
g2l 29 1,527,300 920,960 606,340
= 157,800
= 1,369,500
P23 AL Y B2 KR 135,900 154,400 A 18,500
201 LBt23| 6,000 5,500 500
03 &At2ZH] 6,000 5,500 500
oEEY A 6,000
=l 160,000& x 105 1,600
-3t 100, 0002 *4JHK 400
-OtF & CHAHZ 2,500,000 1A 2,500
=52 100,000 *30H 300
-HEHHE S 100,000 *12JH*13] 1,200
301 LPENZ 11,900 11,900
11 HAIAHIXIAZ 3,900 3,900
oBBY A HA BEIIE B4
20,0003 150 3,000
oSEY MAL XJCK 24
300, 0002 *37H Al 900
14 J|EI2 43 8,000 8,000 0
oE2IIE f=2 100,000 x60H 6,000
o=SHREN RE 100,000 108 *23| 2,000
307 212+01™ 115,000 115,000
02 QIZHAAAIHE X 39,200 39,200
oletAlE Ws Y OHEEE HAs S
17,600,000 17,600
ot SAES X2 & EE=XAILI
13,600,000 13,600
oRBLEXNS F, 54 nNSHA
2,000,000& 2,000
oMeZ0ls 6.25HNHEAIIEE S 3
a] 750,000 *43] 3,000
oME=zols BEIIE HE(4,54) s8A
A 1,500,000 & 23| 3,000
03 QIZIHXHE2IHIE X 68,800 68,800 0
oE=HH 2E X 68,800,000 68,800




FA F2US
My sz L N
el B2l 22 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 IZHHAIAIS E X 7,000 7,000 0
©6. 25 J|SHA} 7,000,000 14 7,000
405 KHaHF S| 3,000 22,000 19,000
01 ML ESFSHI 3,000 22,000 219,000
o2&3|& Jt+ FY 1,500,000 24! 3,000
g8 =3A =8 929,600 494,000 435,600
301 EtE NS 929,600 494,000 435,600
03 A 2E A =TS (XL THH) 929,600 494,000 435,600
cHMRST o= (RHAl)
140,000& *x370E « 12& 621,600
SHHUKRST REFE(XHA)
100,000& x250F « 12 300,000
oANERAZRS 200,000 *40H 8,000
detg e EEKFIBNHL(EX) 133,200 102,960 30,240
== 133,200
301 EtE N = 133,200 102,960 30,240
= 133,200
02 MBI 2HHSFHS(FHAANS, XLHE) 133,200 102,960 30,240
cdetg: MM+
30,0002 %370« 12& 133,200
= 133,200
22HU=¢ 304,000 154,000 150,000
301 2eEN= 304,000 154,000 150,000
03 AL 2 & A 253 (XL E) 304,000 154,000 150,000
oZ2disg 100,0002 x250E « 12 300,000
oMNERAZS 200,000 20 4,000
detdr 22g0=E 24,000 0 24,000
S 24,000
301 EtE NS 24,000 0 24,000
= 24,000
02 ANRI2HHSHS(HAAS, NLHE) 24,000 0 24,000
oNitd: 2EHUE
20,0002 «100E 122 24,000
< 24,000
Sg /3l & 2= 22H(EX) 600 600 0
== 600
301 EtE N = 600 600 0
= 600
02 AR 2EH LGS (FHAAHS, W) 600 600 0
oSgREA & RE2A=H XA
600,000 600
= 600
ol =Xsd 16,821,867 12,350,203 4,471,664
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SN OISR
M Zoje SXNSH
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,186,868
=S 1,656,566
s 7,978,433
Zojel Moty X2 16,821,867 12,350,203 4,471,664
= 7,186,868
= 1,656,566
o 7,978,433
ZOH AR & EHIAIE 247,000 85,000 162,000
=S 12,000
s 235,000
307 @I2to| & 147,000 85,000 62,000
== 12,000
[Ea 135,000
02 B AAHE L 58,000 54,000 4,000
oFOHQl HAL FA 18,000,000 18,000
oL S2 X7 S X208
40,000,000& 40,000
= 12,000
Ea 28,000
04 QIZHHAMAIH 2 £ 30,000 19,000 11,000
oZ0He! Bt t=HI
30,000,000 *13] 30,000
11 AMEISXAEEES 59,000 12,000 47,000
STOYOI ASHE 2
2,000,000 «1H*12& 24,000
SXMEHMLIES S22l AR FIt
itz XA 35,000,000 35,000
406 JIEFAIZ01E 100,000 100,000
01 JIEFRH=01E 100,000 100,000
o5|Y=A2 & FHUHESSHEE JAl
= 2laz 100,000,000 100,000
el 200 4Kz 2K 9,600 2,000 7,600
307 elztol & 9,600 2,000 7,600
11 MEISXAEEXS 9,600 2,000 7,600
CHMARIAH 2SI
800,000 x 12 9,600
sO0tolgsl =28 A& 4,800 3,600 1,200
307 @12t01 & 4,800 3,600 1,200
11 AMISXIAIEEX 4,800 3,600 1,200
oS0tIEal AIRA Xtz
400,000 <123 4,800
= SAME 29 40,000 0 40,000
= 8,000
= 32,000
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2A:

M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 40,000 0 40,000
= 8,000
= 32,000
10 AlISAAIEEE 22X 40,000 0 40,000
oS UH 24|
10,000,000 * 10 A +42 | 40,000
=S 8,000
s 32,000
g 2SS 10,800 10,800 0
307 212+01& 10,800 10,800
11 AMEISXAEEES 10,800 10,800
oFEE 2l
300,0002+3H + 122 10,800
ZoHe! JHRI2HAIE K& 947,778 803,145 144,633
= 189,555
o 788,223
307 @120l & 947,778 803, 145 144,633
=S 189,555
s 758,223
10 Al SXAEEE 22X 947,778 803,145 144,633
oFOHQ A2 HAIE XIS
118,472,250 x20 A= +4= J| 947,778
< 189,555
s 758,223
ZOHR! HFAIE SAHL SE+E 27,000 27,000 0
= 8,100
Ea 18,900
307 gl2to| & 27,000 27,000 0
=S 8,100
s 18,900
10 Al SXAEEE 22X 27,000 27,000 0
SHQ HFAIE SAAL SE+E T2
90,0002 x25H 122 27,000
< 8,100
= 18,900
ZOHR! HFAIE SEPA| 1,100 1,100 0
= 275
Ea 825
307 el2to| & 1,100 1,100 0
S 275
o 825
10 Al SXAI2EE 22X 1,100 1,100 0
oYM HTAIE 2EFAH X
20,000 #6552 %12 1,100
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SN OISR
M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 275
s 825
SIRAANE 2SN 2,863,044 2,584,676 278,368
= 2,004,131
< 429,45
= 429,457
307 lztol & 2,863,044 2,584,676 278,368
= 2,004,131
== 429,45
o 429,457
10 Al2ISTIAIEEE2HIE X 2,863,044 2,584,676 278,368
oHAQRAAIE 2|
715,761,000 * 1 2=%42 | 2,863,044
= 2,004,131
== 429,45
o 429,457
ZoHe! HF R FAUQAAE THIEXE 61,280 68,720 AT,440
== 18,384
= 42,89%6
307 elztol & 61,280 68,720 AT,440
= 18,384
[Ea 42,8%
10 Al SAAEEHE 22X 61,280 68,720 AT,440
oHUEHAE SAHAL SE+E K&
103,695 x46H 122 57,240
< 17,172
2 40,068
SBAFAAL UFBAY| X
20,0003 x2028 *13] 4,040
= 1,212
= 2,828
ZOHIEAIE XI2HE 2 66,840 66,565 275
= 13,368
o 53,472
307 @120l & 66,840 66,565 275
== 13,368
o 53,472
11 AMRISXAEEES 66,840 66,565 275
SZOHABAAL X2HE 2
16,710,000& * 10 42| 66,840
= 13,368
= 53,472
ZIOHQ! RIFTHEAIE &XI 3,358,000 3,358,000
401 AIEHIX R0 3,358,000 3,358,000
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2A:
PSR
ool

012X ot
Hofel =X
HOjOI MEOIE K|

S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
01 Al&HI 3,358,000 0 3,358,000
oFHQ F2AESAIE EXIAIY EXI0HHI
1,200,000,000& 1,200,000
oTQ F2AESAIE EXIA AAIEA I
84,000,000 84,000
oZOHS! HUMEAIE EXIANE EXOI2H
2,000,000,0002! 2,000,000
SHONO! MATHRAIL AXIAIS AAIEHHY
74,000,000& 74,000
I HHO0ISAEHH 2E 169,300 145,827 13,473
=S 31,860
s 127,440
307 21201 & 159,300 145,827 13,473
< 31,860
[Ea 127,440
10 Al2ISTIAIEEE 22X 159,300 145,827 13,473
oI ME0ISKAME 29
39,825,000 * 10 A x42 | 159,300
= 31,860
= 127,440
il OISAIE SAL SE+E 24,840 24,840 0
=S 7,452
s 17,388
307 @12t01 & 24,840 24,840 0
== 7,452
[Ea 17,388
10 Al2ISTIAIEEE 22X 24,840 24,840 0
oZ0HS! OISAIE SAA SE+E
90,0003 x23H «12& 24,840
= 7,452
= 17,388
oS =sA2 23X 1,198,877 1,041,365 157,512
= 178,993
o 1,019,884
201 fer= 3| 5,590 5,590
01 At 2|l 5,590 5,590
oYLl HALE OISA BAZ P2
1,863,300 «30H 5,590
307 @I2H0| & 1,193,287 1,038,365 154,922
= 178,993
= 1,014,294
10 Al SXAAIEEHE 22X 1,193,287 1,038,365 154,922
oHfeIsE=EA2 28 A
298,321, 7502 * 10 2 +42 D 1,193,287
= 178,993
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2A:

M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 1,014,004
ofel=sX2 S4H A 100,800 100,800 0
== 30,240
[Ea 70,560
307 212+01& 100,800 100,800 0
< 30,240
s 70,560
10 Al2IS XA EEE 22X 100,800 100,800 0
oHRI=RIZ 2AH| N
25,200,000& * 10 A *42 71 100,800
= 30,240
Ea 70,560
o MEXE 17,414 6,014 11,400
201 et 3| 13,514 6,014 7,500
01 AtR2tc|Hl 10,760 3,260 7,500
SZOHISXI CHHZHIH MZ
30,000 * 1002 3,000
oS A AL X (L EHEARE)
200,000 %53 1,000
oLglH EH+Y 250,000 *4H 1,000
OMNFES 78 50,0008 x5+ 122 2,400
olAMd €8 S| =58 600,000 600
o= R =& SE|
8,000 3 » 115 2,760
02 S3=gHl 2,7%4 2,7%4 0
cHMISES SII?E &5
3,820 60021 2,292
SHAIQ SHTI| FHAER
5,500& 7 A+ 128 462
202 04l 3,900 3,900
01 =LHA LI 3,900 3,900
oY= HRFA
20,0002 x3& *65 3,900
== 0OIz)X= 365,968 202,290 153,678
= 249,178
= 32,037
o 74,753
301 LEtE N = 365,968 202,290 163,678
= 249,178
& 32,037
= 74,753
01 AR 2EHSHS(RRNEERTHE) 365,968 202,290 183,678
ol|xes it B 365,968,000 365,968
= 249,178
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SN OISR
M Zoje SXNSH
Sl Hojel Moty X2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 32,037
s 74,753
o= (Xael S)XS 205,018 163,810 41,208
= 143,512
== 18,452
= 43,054
301 EtE NS 205,018 163,810 41,208
= 143,512
== 18,452
o 43,054
01 Al 2E A S(SRNEXMH) 205,018 163,810 41,208
oXtae S =g 205,018,000 205,018
= 143,512
=S 18,452
s 43,054
s S0Xls 2,073,239 2,034,581 38,658
= 1,451,267
= 186,591
o 435,381
301 Eet2 NS 2,073,239 2,034,581 38,658
= 1,451,267
= 186,591
Ea 435,381
01 Al EE AT S (2 RDEEMRA) 2,073,239 2,034,581 38,658
oHIH= 2,073,239,000& 2,073,239
= 1,451,267
= 186,591
= 435,381
ZoHel=HIXI2 97,966 112,165 A14,199
= 78,373
= 5,878
= 13,715
308 AXIHSOIA 97,966 112,165 A14,199
= 78,373
[ 5,878
T 13,715
11 SIS0 EAS A 97,966 112,165 A14,199
oFHQ! 2l=H] 24,491,503 42| 97,966
= 78,373
== 5,878
o 13,715
ZoHIL el XI& (SXLXel) 160,994 160,994 0
= 80,497
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2A:
PSR
ctel:

by
te X1

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

24,149
56,348

101 e124d|

HH W

160,994
80,497
24,149
56,348

160,994

M ORINZZ2NSE S

o ZOHU LXK (SXILXtel)
536,646 x25%H 122

HH W

160,994

160,994
80,497
24,149
56,348

160,994

oIl X (ML ML)

HH W

191,771
95,886
28,766
67,119

191,771

101 Q124H|

MW

191,771
95,886
28,766
67,119

191,771

M IIR2RENESS
S RHHQIU Xt | KIR (MLH)
2,282 980R+7H 122

MW

191,771

191,771
95,886
28,766
67,119

191,771

ZOHOIL X2 XIS (AIZEMIL RF2 )

MW

69,000
34,500
10,350
24,150

69,000

101 e124d|

Mo W

69,000
34,500
10,350
24,150

69,000

MU IRINZZENSE

o ZOHerg el Xl %(/\I 2HH)
1,150,000 x5« 122

Mo W

69,000

69,000
34,500
10,350
24,150

69,000

ZOHQI A Kt  XI& (AI2HE0H QI QFDIAHIFA)

Mo W

69,702
55,750
4,186
9,766

34,897

34,805
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2A:
T ZH -
o e

=aak

&
ERL

SA - BE - SRA(SIH) - IRAY -

By

Ofl &F2H

HE
0l &y

307 212t01™

HH W

69,702
55,750
4,186
9,766

34,897

11 ARIZXAIE E X

1,452,

S ZOHQI LKt K12 (A2 Z 04l 2FOFAL)
1253 x4H 128

HH W

69,702

69,702
55,750
4,186
9,766

34,897

34,805

MNASZOHQ! ZEH| L ZAHH XI&

HH W

1,300
650
195
455

1,300

MW

650
1%
455

1,300

ZIAHI)

1,300,000&

MW

650
195
455

1,300

MO

7,000
2,100
4,900

9,000

A2,000

307 212t01&

M H

7,000
2,100
4,900

9,000

A2,000

7,000,000 190 2

UMY

7,000

7,000
2,100
4,900

9,000

A2,000

2eME AL BRI

nl

MW

116,353
81,447
10,472
24,434

116,640

N287

308 XXIHMSO0IA

Mo W

116,353
81,447
10,472
24,434

116,640

N287

-

11 SIS0t oA AS A

116,353

116,640

A 287

- 281 -




SN OISR
M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
N ESIE I e TRy
29,088, 2503 #4427 116,353
= 81,447
< 10,472
T 24,434
LETHEMEIA ZH| SHOALY 48,000 4,320 43,680
= 14,400
[Ea 33,600
308 AXIHS0IA 48,000 4,320 43,680
= 14,400
o 33,600
11 S| 2S0UeZB XA AIE 48,000 4,320 43,680
oL THEAHIA & =UALS
12,000,000 #4221 48,000
& 14,400
Ea 33,600
ZOHeIZ D10 W2 55,671 3,838 51,833
= 3,737
o 51,934
301 LEtE N = 46,671 3,838 42,833
= 3,737
o 42,934
01 Al EE A S(FRNEEA) 4,671 3,838 833
o ZoHel EX017] X 4,671,000 4,671
= 3,737
o 934
03 AL 2 & A 2532 (XL E) 42,000 0 42,000
oa2 0154 BAIZ XIAAE
700,000 *60H 42,000
307 elzto| & 9,000 9,000
06 28= 9,000 9,000
o0l EXI|D| HUBER
45,0002 x200& 9,000
ZOHQ! DEE2 SHOIIHASZD| X (2X) 2,000 2,240 A240
& 500
Ea 1,500
307 212t01™ 2,000 2,240 AN240
= 500
= 1,500
11 AMEISXAIEEE 2,000 2,240 A240
o0l =2 oHolHA =HED| K&
25,0002 +80CH 2,000
= 500
o 1,500

- 282 -




SN OISR
M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Zoie! 2sXASHAIE 3,770,389 3,770,389 0
= 2,639,272
== 339,335
[Ea 791,782
308 XXM SOIA 3,770,389 3,770,389 0
= 2,639,272
=S 339,335
s 791,782
1 S| 2SO0 UeZBSHASAIE 3,770,389 3,770,389 0
oI ESXASH
942,597, 2503 4= | 3,770,389
= 2,639,272
= 339,335
o 791,782
ZoHe! BsX¥ ZHIXA 39,500 84,476 N44,976
[ 7,900
T 31,600
308 XtXIEMSO0IE 39,500 84,476 N44,976
= 7,900
= 31,600
11 SIS0t A AS A 39,500 84,476 N44,976
o ZHOHe! ESXIA(THIZH)
9,875,000 4= 7| 39,500
= 7,900
o 31,600
FogsEx JRgH 14,286 3,133 11,183
= 10,000
= 1,286
o 3,000
308 AtAIEHMSOIE 14,286 3,133 11,183
= 10,000
= 1,286
o 3,000
1 SIS0t EAS A 14,286 3,133 11,183
SEZHOY BELZE IO
3,571,500 x4= 7| 14,286
= 10,000
= 1,286
= 3,000
el 2SN =38 dofd 2g8+8 840 840
201 ZBt=Ehl 840 840
01 AtR2t2|HI 840 840
oFML ESXE ==k& Y42 2
g =g 70,000& *122] 840
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SA FUS
Hm: mojol =2XSA
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 63,99
=S 8,228
s 19,198
1 S 2SI U ZBSHASAIE 91,421 91,421 0
UL YUBHEAA X
22,855,2503 4= | 91,421
= 63,99
= 8,228
o 19,198
22T F=HESAMEIAXE 270,676 260,893 9,783
= 189,473
S 24,361
o 56,842
308 XM SOIE 270,676 260,893 9,783
= 189,473
= 24,361
o 56,842
11 S| 2SS & AEAIE 270,676 260,893 9,783
oY RO FABEALIA XD
67,669,000& %42 | 270,676
= 189,473
= 24,361
o 56,842
LE ASOSAIS 1,500 0 1,500
=S 450
s 1,050
301 EtE NS 1,500 0 1,500
S 450
[Ea 1,050
02 AL 2EH LGS (HAAS, W) 1,500 0 1,500
SULHOH AT A(CPS 7L)
300,000 +5CH 1,500
= 450
= 1,050
ST NHXESE FHEXA 16,875 20,553 13,678
=S 5,062
s 11,813
101 21AH| 16,875 20,553 A3,678
== 5,062
[Ea 11,813
JRHMZENEE S 16,875 20,553 A3,678
oSS NHXES FHEXA
468,750 x3H 123 16,875
= 5,062
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=aak

ol vy

HMEE
Ofl &k2h

A H

711,081
711,081

FAHAS20 XNEAMH(EX)

HoH W

—_

,338,911
,071,129

133,891
133,891

1,411,250

AT72,339

HH W

888,911
711,129
88,891
88,891

961,250

AT72,339

888,911,000

HoH W

888,911
888,911
711,129
88,891
88,891

961,250

AT72,339

308 AbXIE

HE0IH

Mo W

450,000
360,000
45,000
45,000

450,000

450,000,000

MW

450,000

450,000
360,000
45,000
45,000

450,000

12,201

12,201

12,201

12,201

SIZMEEE NS (ZHIRES 10%)

12,201,000 *1JH 2

12,201

12,201

12,201

HoH W

76,290
61,032
7,629
7,629

52,026

24,264

HH W

76,290
61,032
7,629
7,629

52,026

24,264

76,290,000

HoH W

76,290

76,290
61,032
7,629
7,629

52,026

24,264
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FA F2US
ZH: 2WD|ZHERY HASS X
el J=MeEs8d (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FRAFHU(EX) 45,000 45,000 0
= 45,000
201 et 3| 45,000 45,000 0
= 45,000
01 AtR2te|Hl 45,000 45,000 0
oSAUYN FRS= 2852
3,0002%1,250£ 122 45,000
= 45,000
NAS 200 I=SM SSEH2AE 10,000 0 10,000
301 EtE2 N = 10,000 10,000
03 A2 E A0S (XIS THH) 10,000 10,000
oMAS 281 NSA RSECIME
1,000,0002 10 10,000
SIZSHAIE 29,701 0 29,701
SIS 2telAr 21Adl XI# 20,800 0 20,800
101 e124d| 20,800 0 20,800
M ORNZZ2NSE S 20,800 0 20,800
c22Z02CIAHOIZHN) 1148l S
2,600,000& «1&+8E 20,800
o280 2 MM S 3,000 0 3,000
301 EtE N = 3,000 3,000
14 DBt 2 a3 3,000 3,000
cOl230 PHHD ADEAS
500,000 62 3,000
SIES 0 22IAF X 5,901 0 5,901
101 ©1AH| 2,061 2,061
M ORNZZ2NSE S 2,061 2,061
22 H2ACIAHOIREM) SEZIHI
2,300,000 «60%* 14 1,380
o222l AHDIZEM) HIHE A
85,1002 x1H+8 681
202 048l 3,840 3,840
02 A0 3,840 3,840
oo gEeIAF UM
160,0002 x2& * 122 3,840
A2l SRS MEIA I 1,581,801 1,120,830 460,971
= 207,282
= 583,935
Jl 37,000
= 158,938
= 594,646
A2AAHSE K& 1,188,944 758,113 430,831
= 7,500
= 583,935
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2A:

=X
=

M AlRISXSEAHA X
Selr XaHS XY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 37,000
=S 123,704
s 436,805
S|g=X XA 27,480 25,260 2,220
201 et 3| 12,080 11,160 920
01 At22t2l] 12,080 11,160 920
oHElHEH P 250,000 x4 1,000
oARES 7Y 50,0003 x45 122 2,400
osly=X 2B24H, TIY S
250,000 « 12|+ 1238 3,000
oE2= MH 5,000& 25 +2000H 2,000
csy=xYL =1 3|
8,000 »4E 1152 3,680
202 04l 5,200 3,900 1,300
01 =LHA LI 5,200 3,900 1,300
SEISEINj R
20,0002 x4 »65 5,200
307 @I2t01 & 10,200 10,200
1 AMISXAIEEX 10,200 10,200
ollS¥%ciy 24 850,000& * 122 10,200
Nas =0 daoty T2 67,000 87,000 /20,000
301 22N = 67,000 87,000 /20,000
03 AR 2E A5 S(XILH) 67,000 87,000 /20,000
oMAS ME S0 Z2H| X2
200,000& x75H 15,000
oMo, XtHLIA 2e7s 23
100,000 #4009+ 40,000
o3& A=R=SS 6,000,000 <22} 12,000
== DN PN 8,640 8,640 0
301 2PEN= 8,640 8,640
03 AR 2E A5 S(XILHE) 8,640 8,640
o At 7 It I 20,0003 x4 * 122 960
oFuldE ikt ME|
2,000,000 +3% 6,000
oTAIES WX YA
60,0002 8% 480
oA Xt bl 20,0003 »2& 30 1,200
NASE dAECHAY 16,500 16,500 0
301 EtE NS 16,500 16,500
03 AR 2EHFS(XILMHE) 16,500 16,500
oMaSE 4l Fotoi=cl)l
22,0003 +750H 16,500
AHI2IRIALY 2E(EX) 21,840 18,000 3,840
= 7,500
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2A:
PSR
ool

PQIEIIEOUHHIA A&
AaHS X

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,250
s 12,090
201 er23| 7,500 7,500 0
= 3,750
== 1,125
[Ea 2,625
01 AtR2t2lt] 7,500 7,500 0
oMBISXSEAHIA AtdlZ2eIAY E2S
NES 7,500 *500 & 22 7,500
= 3,750
== 1,125
o 2,625
202 04l 6,840 3,000 3,840
01 SLHoIH 3,000 3,000 0
oSEAtHIZEIAL 22 W=
100,000 x2& *153] 3,000
02 A0 3,840 0 3,840
oSEAteIZEIAL A
160,000 x2& * 12 3,840
301 22N = 7,500 7,500 0
= 3,750
= 1,125
o 2,625
01 ARRI2HHSHS(SDEXRTH) 7,500 7,500 0
oAt 2el &R Ot X2 8]
500,000 %15 7,500
= 3,750
= 1,125
o 2,625
XSXE28 ASIMHIA SEXFAIE (EX) 634,965 416,813 218,152
[ 507,972
= 38,098
[Ea 88,8%
202 048l 2,000 2,000 0
[ 1,600
= 120
= 280
01 =LHAHI 2,000 2,000 0
o NG AR AEIA SXAIY =& 04|
20,0002 * 12 =100 2,000
[ 1,600
= 120
= 280
308 AXIHS0IA 632,965 414,813 218,152
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FA F2US
Hu: AlS=XSSAMHIA X
Celr XHARIHS A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 506,372
=S 37,978
s 88,615
1 S 2SI U ZBSHASAIE 632,965 414,813 218,152
SIS ASIHEIA STAIY
582,365,000 582,365
s 465,892
= 34,942
o 81,531
ocHHDIS U XA 8,100,000 8,100
= 6,480
S 486
o 1,134
S IIARIE L ZXIRAAS 42,500,000 42,500
[ 34,000
= 2,550
o 5,950
SHE X5 SEAMUIA(SXEES) X 108,519 92,400 16,119
[ 75,963
= 3,256
Ea 29,300
201 Zet=3h] 37,961 32,340 5,621
[ 26,573
= 1,139
= 10,249
01 At2teltl 37,961 32,340 5,621
ogH wEE=] 29 227
3,451,000« 11 EH 37,961
[ 26,573
= 1,139
= 10,249
301 EtE NS 70,558 60,060 10,498
[ 49,390
= 2,117
= 19,051
01 Al EEABZ2(2REER) 70,558 60,060 10,498
ogH UEESX Atcll22IHal At X2
6,414,363 11 EH 70,558
[ 49,390
== 2,117
= 19,051
felsUl HZA SEXDIsH 228l X2 267,000 93,500 173,500
= 80,100
o 186,900
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2A:

E M

=
-

2= X1

ARISXSSAEIA X
X

Celr XHARIHS A (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 13,200 5,500 7,700
= 3,960
= 9,240
01 At2teltl 13,200 5,500 7,700
o2clsul SAVISl 28 =5+
1,200,000« 11O EH 13,200
=S 3,960
s 9,240
301 22N = 253,800 88,000 165,800
< 76,140
= 177,660
03 AL 2 EH 263 (XL E) 243,800 81,300 162,500
oclsUl SAVISH 4oty X
9,618,180+ 11HEH 105,800
= 31,740
2 74,060
o22ISY =XIISH MSZEOHL X2
12,545,450« 110HSH 138,000
< 41,400
[Ea 96,600
11 dAMEEIXIZE S 10,000 6,700 3,300
olsUl SIS 25 24
909,090 *11HSH 10,000
= 3,000
Ea 7,000
fclsdl SIS SHIISAH 37,000 0 37,000
Il 37,000
301 EtE N = 37,000 0 37,000
Jl 37,000
01 ARSI 2E A S(SRNEXME) 37,000 0 37,000
oS2SH SAISH 2 (=7II2)
480,519 *11HS 701+ 37,000
Il 37,000
FI=1=N 273,617 263,817 9,800
= 198,547
S 24,434
o 50,636
Mol = 11,800 2,000 9,800
201 fer=3| 600 600 0
02 s3=gHl 600 600 0
oMol PSS At SEEZAAY FEHLT]
ANEZ 50,000& * 122 600
307 glztol & 11,200 1,400 9,800
01 22X+ &H| 11,200 1,400 9,800
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SN EeI=X
M AlRISXSEAHA X
Sl 2SS4 EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oMfoli+= =37
140,000 x2S +40H 11,200
US=EXXNH(EX) 225,463 225,463 0
= 180,370
= 13,528
s 31,565
301 EtE N = 225,463 225,463 0
= 180,370
[ 13,528
T 31,565
01 AR 2EHSHS(RNEXRTH) 225,463 225,463 0
o2AZ=XXE (EX) 225,463,000 225,463
= 180,370
== 13,528
o 31,565
DZLHY WEXRH NEAG(AB2EE 20148 S 36,3%4 36,354 0
ghatel)
= 18,177
< 10,906
[Ea 7,271
301 LELE NS 36,354 36,34 0
= 18,177
=S 10,906
s 7,271
14 0Bt 2as 36,354 36,354 0
oDZLH9 HE XAl X3
36,354,000 36,354
= 18,177
=S 10,906
s 7,271
A2 SAMAE X 119,240 98,900 20,340
= 1,235
= 10,800
o 107,205
AESAHES K2 55,500 42,000 13,500
201 fer=3| 6,000 4,000 2,000
01 AtR2te|Hl 6,000 4,000 2,000
oA SASIOINEA T XIE
50,000& *30H 1,500
oXHASAHAL el 2 M S
250,000& *10E 12 2,500
ozt g8 22 o
4,000 102 %50 2,000
206 M=l 3,000 2,000 1,000
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A FRISXID
T AT SEAHIA K2
&2l TG SAHE XA (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =Yl 3,000 2,000 1,000
ot SAES M=l K&
30,0003 *50F 23 3,000
301 LB F 8,500 8,500
11 SHAIAHIXI A2 7,500 7,500
oXHASALA 2= 50,0002 *30Y 1,500
S XA SALRHE AL 20 ) Kl
8,000 25 *303] 6,000
14 J|Et2 A3 1,000 1,000 0
o NHEASALA Aol xIZdl K&
200,000 *5H 1,000
307 212+01™ 38,000 27,500 10,500
02 QIZHEAAHE X 33,000 22,500 10,500
oNESAI RZZ2 & X7
2,200,000& 1504 2~ 33,000
04 QIZHHAIAIE B X 5,000 5,000 0
o XA SALA CHEI XA
5,000,000 *1JH A 5,000
NRSAMAEH 29 3l 8,930 5,090 3,840
201 B2 AY| 4,090 4,090 0
01 At22teld| 3,100 3,100 0
S NRASAISER F& AIRES
100,000 28+ 122 2,400
oNESA2IARSE ENY
70,0003 *5%H »23| 700
02 2224l 990 990 0
oA SALAL REZ &5
3302 *250H 128 990
202 04d| 4,840 1,000 3,840
01 =ZLHOdHI 1,000 1,000 0
o XNHRSEAN 2COIUI0IH 2#2WE AL
50,000 *2%H*103] 1,000
02 M| 3,840 0 3,840
oNtESAH ZCIUIOIH ML
160,000 x2Z* 12 3,840
A= S8 ANESAMEE I MHIA X(EX) 2,470 2,470 0
= 1,235
[ 1,235
307 212+01™ 2,470 2,470 0
= 1,235
= 1,235
06 232 2,470 2,470 0
oXHASAHA BEZ K& 2,470,000& 2,470
= 1,235
= 1,235
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M Z=ol=x
3 AMI=SNSEMEIA XIS
el AESAKE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
N EA 843 RF(EX) 13,340 13,340 0
= 4,000
= 9,340
201 er2 3| 3,470 3.470 0
= 1,040
[Ea 2,430
01 AtR2t2|HI 3,470 3,470 0
oNASNES 222 7Y
5,0002+4002 *13] 2,000
== 600
[Ea 1,400
CNASBARE LDE(HARE S) 2
1,470,000& 1,470
= 440
[Ea 1,030
301 EtE NS 1,000 1,000 0
s 300
e 700
11 AALRHIXIZS 1,000 1,000 0
oX0PtE NHASAM u=s
100,000& * 102 1,000
S 300
= 700
307 el2to| & 8.870 8,870 0
= 2,660
[Ea 6,210
02 QIZHEAAEE X 8,870 8,870 0
oltESAZSH N3 (22 9=, 58Us)
5 0002 *10H A 5,000
== 1,500
[Ea 3,500
JIsg AsE M2SAHRLI2Y)
A& 3,870,000 * 100 2~ 3,870
= 1,160
[Ea 2,710
JIRAE MSAG(FEYWD) XJA(EX) 34,000 34,000 0
s 6.800
s 27,200
307 212+01& 34,000 34,000 0
[ 6,800
Ea 27,200
11 AMEISXAEEES 34,000 34,000 0
SI|FASHSAE
2,833,330 * 14 A+ 122 34,000
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6,800
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2,000
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Ao
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57,200
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292,161
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57,200
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73,335

A22,582
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73,335

AP2,582

oA
225

11,1303 x19H20A[ 2t 12

50,753

50,753

73,335

N22,582

Arell 22 Ab e124H] XIJ(2X)

Mo

67,752
33,876

3,388
30,4838

66,624

1,128

101 e124d|

HH W

54,792
27,3%

2,740
24,656

45,984

8,808

2,283,000 2~ 123

HH W

54,792

54,792
27,3%

2,740
24,656

45,984

8,808

HoH W

12,960
6,480
648
5,832

20,640

AT7,680
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A
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2A: F2=SK
M HYRAZH(FLU=X1L) o
el QIEE2E EER=E)
MEE =2t
SA - Y- GRA(B) - HRAY - BES Ol &t S HIRS
< 84
i 7%
oSEAtdIZACIAL R2UAS EEE
130,000 2« 12 3,120
= 1,560
< 156
i 1,404
oSEAtHZEIAL AL 2B
170,000 2« 12 4,080
= 2,040
< 204
i 1,836
o SEAtAZCIAL EIXHYS
170,000 2« 12 4,080
= 2,040
< 204
z 1,836
SEAEIZCIAL Q18] X1 (KEA) 14,440 1,000 13,440
101 el2A4| 14,440 1,000 13,440
03 SRH(PINAHA) 222+ 14,440 1,000 13,440
SEAtAIZ2IAL Q1248 X
) 7,220,000 24 14,440
NHESAH 2CUI0IH NS 121H] X3 (2X) 62,040 59,148 2,892
= 31,020
i 31,020
101 el 50,280 48,108 2,172
= 25,140
= 25,140
03 SRH(RINAHA) 222+ 50,280 48,108 2,172
o XASAH 2CIUI0IE 141l X1
2,095,000 2« 123 50,280
= 25,140
[ 25,140
M H=FESS 11,760 11,040 720
= 5,880
i 5,880
M SRHE(RIHA) 22N 2RSS S 11,760 11,040 720
oXESAH 2CIUIOIE =2H3 282
100,000 2%« 12 2,400
= 1,200
[ 1,200
o XA SAH 2OIUIOIE =242 282
100,000 <2« 123 2,400
= 1,200
= 1,200
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SN OISR D
M HAPAZH|(FU=RD)
el QIEE2E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oXHASAH ZLIUIOIE NS& 8=
80,0002 x2& x 12 1,920
= 960
Ea 960
oXrdSAH 2OUI0IH BI&HES
210,000 2« 122 5,040
= 2,520
[Ea 2,520
AHESAH 2CIUHIOIE 2148 XI& 17,000 4,000 13,000
101 @124H| 17,000 4,000 13,000
03 SR (RINHA) 222+ 17,000 4,000 13,000
o Xt EAL ROIUIOIE e14H] XI&(2HIF
ot) 2,125,000& «2&~4 & 17,000
=0 &eIAL QIZH| XIR(EX) 71,500 0 71,500
[ 57,200
= 10,010
o 4,290
101 @124H| 59,746 0 59,746
= 47,797
& 8,364
= 3,585
03 SR (RINHA) 222+ 59,746 0 59,746
ollzz &AL 12|
2,178,208 2H 122 52,277
= 41,822
< 7,318
s 3,137
ollgZ2ACIAL AlIZtRI=E
15,5603 x20AI 2H+2E+ 123 7,469
[ 5,975
= 1,046
= 448
M A=FESS 11,754 0 1,754
= 9,403
& 1,646
= 705
04 R (RIHA)22N BEESRES S 11,754 0 11,754
oflzzAcIAL BANES
209, 7403 «2H 1238 5,034
= 4,027
= 705
s 302
cflgzzAcIAL RUAS B8
105,000 =2 * 122 2,520
[ 2,016
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SA FUS
M B2 (FU=X )
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 353
s 151
ol ACIAL RUAY EEE
115,000 x2&* 122 2,760
[ 2,208
< 386
= 166
ocoggaAcIAt DEMM 282
60,0008 x2& * 122 1,440
[ 1,182
= 202
= 86
SO ACIAL Q1A X1 (XHH) 8,676 8,676
101 @1A4H| 8,676 8,676
03 SRA(RIH )22 HE S 8,676 8,676
oS0 2elAr 1] X1 (XHA)
8,676,000 8,676
J1I=28Hl 26,940 25,437 1,503
Jl=2&H] 26,940 25,437 1,503
201 el 21,900 17,037 4,863
01 At2telt] 21,900 17,037 4,863
SEE 250, 000& 207K 5,000
S UE=N 25,0003 1002 A 2,500
oM ST 200& 2, 5000H 500
SHEA=E 5,880
-S2Xl 20,0003 x112+ 128 2,640
NN 15,0003 18+ 122 3,240
X=X YPEX AREE
20,0002 x105+ 122 2,400
oxpl=X YLEA(2E) 2|
8,0003*108 »20! 1,600
oZSAP| U=
165,000 *1CH* 12 1,980
od=s)| U= 50,0002 123 600
oBIIFHI YR
60,0003 *2CH* 122 1,440
203 g4l 5,040 8,400 23,360
M EASHLRFAH 5,040 8,400 A\3,360
=302l =t
(400,0002+(5,0002 x49 ) )« 12& 5,040
Heas(Fe=sxm) 715,773 853,787 138,014
LIS HHXIE 715,773 853,787 138,014
LHRHH X = 715,773 853,787 A138,014
701 JIEHRI NS EES 650,773 833,787 183,014
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FA F2US
HE: YRS (E=X D
=l WRAAXE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O1 It AN ES 650,773 833,787 /183,014
cllzz S8 MES
650,773,000& 650,773
@RJIsdEs 65,000 20,000 45,000
01 JIsdEsS 65,000 20,000 45,000
oAR=XDIs HES 65,000,000& 65,000
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